HENSS | A

/16

B OROELERCHITEZ KIIHLTERELILLY,

O 73+76+27 = @ 21+88+12 =
@ 102x44 = 56+63+44 =
® 84x25 = @ 36x25 =
® 85+76+15 = @ 33x97 =
® 11x97 = ® 68x99 =
® 25%X32 = @ 32+74+68 =
@  25%88 = B 16x25 =
102%x22 = 101x57 =




STHENLS

B OROELERCHITEZ KIIHLTERELILLY,

O 73+76+27

176

(73+27)+76 = 100+76

® 102x44 =

4488

(1004+2)X44 = | 00X44+2X44 = 4L400+88

@ 84x25 =

2100

(4X21)X25 = (4X25)x2| = 100X2|

@ 85+76+15 =

176

(85+15)+76 = 100+76

® | 1 X997 = 1067
I 1X(100—-3) = 100X | 1=3x 11 = 1100-33
® 25%X32 = 800

25X (4X8) = (25X4)x8 = 100%8

@ 25X88 =

2200

25X (4X22) = (25X4)X22 = | 00X 22

102X22 =

2244

(10042)X22 = 100X22+2X22 = 2200+44

@ 21+88+12 =

/16

121

21+(88+12)=21+100

56+63+44

163

(56+44)+63 = 100+63

@ 36%X25 =

q00

(4X9)X25 = (4X25)X9 = 100X]

@  33x97 =

3201

33X(100—3) = 100xX33—3X33 = 3300—-99

® 68%x99 =

6732

68X(100—1) = 100X68—1X68 = 6800—68

@® 32+74+68 =

| 74

(32+68)+74 = 100+74

® | 6X25 =

400

(4X4)X25 = (4X25)x4 = |00X4

101 X57 =

5757

(100+1)X57 = 100X57+1X57 = 5700+57




